L2 6 FE 2 B E VY FAYARDH— S =z
N B A RS U D [ S e " T
iEIE%%*x%@DMK%XEﬁJD Rﬂ}iﬂn\? E A R = 1B B ®
soExAHR (6) — [0 ¥
B & |¥m26F 8828 () 12:30 Eﬁ’a\%ﬁ\ 70D PKE | & 18 ‘%ﬁjﬁRZ"J‘JE\yTA?ﬁiﬁé\ﬁéﬁr%%ﬁﬁﬂﬁﬁ&r% (HEBK)
X IR Bn |[SB] 379C [8 B 150% | A 58 Ew FIREE R
v vznos-| 1T (RF0 | BIE1 |11 8 HIRH|B40BHE T AN FHE| ALZ ZEHRZS 100
F & 2 g B B 382 (& H 5 I|@EES XK W B X X @ 8218
R B #EGTE O = 1 R B #ENGE
IBESTHABEE w88 O —+—F5——— 1 BIHJSC =
BEFR iE 12 =2FE0 |Kick off
No PK7ma= No
OX OoXx
ZH ya—hk el | i | \ e ya—k =R
=2 || ey | E| B FIES z ; B F B g g g g B F 5 E‘E TE EIE= ®By iEan | | erg| B
3|8 % F K 1|GK|IDF| 2|5 % BE | 1
2| %% XRE| 2 |DFIDF| 3|17 B B K 2 1
3# & % 5(4)vFlDFl4 X & T 52
3K B U F5DFIMF| 5|8 X ¥ 13 2
2/ 8 X B 6 |MFIFW| 6|l R B &#H|2 1 69
2|\ B B W 7 |DFIMF| 8 |% X [FEd| 3|1 3
64 2| W ¥ &% 8|DF|IFW[10/E I = AB|2 1
1 3|8 B & B3O |MFIFW[11|iL & & B2 33
2 4 3= B [E10|FW|DF|15|F B E %E|1
HT 118 B % |/ 11|FW|MF|16|8 ZE E 2|2 1 50
2|k & B FB|16|MF|GK[17|B+E 8B E| 2
38 T o 3|oFlek[(1)E B & # 3
1|K239 B ZE|12|GK|FW| 7 |& B B 2|3 1 11
11 2188 B % B|13|DFIMF| 9| & & 2
8 3| X #H3B|14|MF|MF|12| ABR #ZE | 1
1|1W X & B|15/FW|DF|13|E # B 4|2 6
1|8 R F M7/ FWMF |14 B tHRR| 2 16
2 5 gt 7 | va1— &8 | 10 | ms 7 3
ZRIBENol B & |W B| § ER|#® ¥|E1 ¥ Bl ¥ | ¥ E R ZREBYNo| B & | N B
6 2 4 G K 4 2 6
1 1 Cc K 2 3 5
5 3 2 BEFK 2 1 3
6 11
1 1 BEFK 2 6 8
P K
(Si=t Gl (NI - ~RUZJ)I. —=JO0/8R.  1EFRO/ISR, XE#E. SYa—k. HATs U, HSAT YT a—F)
i F—AL% No. (Si=t=] No. PIR T = B 8
32 EE&EJSC SIM KX Frd| 3|11 B B K 3 hR2 | — 8 | hRA1 S




